Wyniki z éwiczen projektowych -

Mechanika Budowli N1 projekt 1 projekt 2
. termin . termin
Lp. numer albumu termin podst. termin podst.
poprawkowy poprawkowy
1. 26503 brak(2,0) niekompletny brak(2,0)
do brak(2,0)
2. 20103 uzupetnienia
3. brak(2,0 niekompletn brak(2,0
38140 (2,0) pletny (2,0)
d
brak(2,0) niekompletny © poprawy
4. 38143 (2,0)
niekompletny
. brak(2,0
> 22863 (2,0) rak(2,0]
6. 40851 4,5 5,0
7. 40731 5,0 5,0
brak(2,0) niekompletny brak(2,0)
8. 38154
do popraw
9. 5= pop y
40732 (2,0)
10. 40733 5,0 5,0
do do
11. uzupetnienia/3, .
29270 5 uzupetnienia
brak(2,0)/ do
12. 40852 poprawy 3,5 brak(2,0)
13. 27909 S 5-
14. 6859 brak(2,0)/3,5 brak(2,0)
15. 40739 3,5 3,5
16. 21650 brak(2,0) brak(2,0)
17. 35220 brak(Z,O) brak(Z,O)
18. 29366 brak(2,0) brak(2,0)




